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[This question paper contains 6 printed pages.]
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt any five questions.

3. All questions carry equal marks 15 marks each.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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Critically examine the economic strategy of the
current government to achieve back the |og;
growth. Discuss in this context the progress achieved
in terms of building what Arvind Subramanian
calls the “hardware and software of economic

success”.
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Discuss in detail the evolution of Indian trade policy
since 1991, identifying both the significant progress
made through reform and the areas where further

progress is required.
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3. “Abandoning export orientation is akin not just to killing
the goose that has laid golden eggs. It is akin to killing
the only goose that can lay eggs.” Discuss this

statement 1n the context of India’s more recent inward

orientation.
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Discuss the trends in the Indian labour market.
Do you think that reforms aimed at making the
labour market more flexible will succeed in
raising economic growth and generating more

employment in India? Give reasons in support of your

answer.
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5 The income earned by farmers from agricultural
activities has seen low to high growth in different
periods during the last three decades. In none of the
periods do farmers’ income or profitability of farming

show any squeeze. Discuss the factors contributing to

such trends.
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6. There are a few non-negotiable aspects that any
government should keep in mind before implementing

any change in agrarian policy. Discuss in detail these
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aspects i the Indian context and suggest the ways by

which the problems of food SCeurity and inequalitieg

can be best tackled with.
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7. “Even after a quarter-century of market-oriented

reforms, why did India faj] to catch up with the Asian
economies to cement its reputation as a successful

industrial nation with rising manufactured exports?”
Discuss.

“W—Bﬁmﬁﬂrﬁ'aﬁwtﬁuﬁﬁ%mﬁ,mm
FITTNH F WA TG gu Pl D wed ¥ v
AR T % w9 ¥ oo whrer A Tomw e ¥ R
aﬁtm?ﬁ%m?aﬁl

D T N



6

3004

7
.

Critically examine the status ol liberalizatioy in

services in India and the challenges that have plagueg
this process. Do you think by further libcralizmiOn
and strategical use of the international negotiations
services India can leverage new opportunities create

by the Covid-19 pandemic?

WRE § AT H IR B Ry ik g8 b Y g
T TR A T SASATAS TAET T 3G A
® o Sel ¥ SR S IR T SRS Wi T
T WIS ITR A HRA R - 19 HEFIY & RO Feqey
T FEE) ¥ AW IST GHAT 27

(3200)

q

(‘l



